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Vyrazy (4)

1. Rozklad a vytykani
1) Upravte:
x* = 2x? —15x
X% —25
vH: X0+ s
x+5
2) Upravte:
x* —3x
2x? -8x+6
H: X ,
2(x-1
3) Upravte:
X3 +2x°
x*+7x% +10x
X

VH: ——, X#-5x#-2,x#0
X+5

4) Upravte:
3x* +3x-6
x* - 4x
vh: 37D
X(x—2)
5) Upravte:
k? +k
kx—ky

Sbh-MM: 1, x#y, k#0...str21/6.2-a)
y

X1, x#3

, X£x2, x#£0

6) Upravte:
2x% + 4%
x> -4
2Xx
Sb-MM: s X% +2,...5tr21/6.2-b)
X—
7) Upravte:
1-x?
@-%?

Sb-MM: T—X,xil...str21/6.2-c)
- X

8) Upravte:
X-3
x> —5x+6

Sbh-MM: 12, X# 2,X % 3...5tr21/6.2-d)
X—
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9) Upravte:
X2 -4
X -x-6
X-2
Sb-MM: , X#-2,X#%3...5tr21/6.2-e)

2. Vytykani upravené zavorky

1) RozloZte:
(2x—3)(4x +5) + 4(3- 2x) - (2x - 3)*
VH: 22x-3)(x+2)

2) Rozlozte:
2(2x-1) - @-2x)(5x-12) - (2x—1)2
VH: 3(2x-1)(x-3)

3) Rozlozte:
6x-1)(3x-1) - 3x—1)* - 31— 3x)
VH: 3B8x-1)(x+1

4) Rozlozte:
2(3x-2) - (3x—-2)* - (2-3x)(7x - 6)
VH: 2(3x-2)(2x-1)

5) Rozlozte:
(4+x)(2x-3) - (2x—3)? + 5(3 - 2x)(x +1)
Sb-rce: 2(2x —3)(1-3x )...str.18/2.3-2)

3. Opakované vytykani
1) RozloZte:

3ax +bx + 3ay + by

Sb-rce: (3a+b)(x+y )...str.19/2.4-1)
2) Rozlozte:

5ax + ay + 5bx + by

VH: (5x+ y)(a+b)
3) Rozlozte:

a®+3a”+3a+9

Sb-MM: (a+3)(a® + 3)...str.21/4.1-f)
4) Rozlozte:

2a+6+a’+3a’

VH: (a+3)(2+a?
5) Rozlozte:

x? = xy - 3x+3y

Sb-MM: (x - y)(x - 3)...str.21/4.1-g)

6) Rozlozte:
15ru - 6us—5rv + 2sv
Sb-rce: (5r — 2s)(3u -V )...str.19/2.4-2)
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7

8)

1

2)

3)

4)

5)

6)

7

8)

Rozlozte:

5cm—cn—15dm + 3dn

Sb-rce:(c - 3d)(5m—n) ...str.19/2.4-3)
Rozlozte:

2ab —bx + 4ay - 2xy

Sb-rce: (b + 2y)(2a - x )...str.19/2.4-4)

Uziti vzorc a a vytykani
Upravte:

a®-3a 2a+6
a’-6a+9 a*-9

VH:g,a;t +3

Upravte:

b’ -8b+16 _b®-4b?
(3b-12)(b+4) " b>-16
b-4

T3t

VH b#0,b#+4

Upravte:
20+10 b*’-5b
b?-25 b®-10b+ 25

VH:%,biO,b#iS,

Upravte:

a?-25 a?+10a+25
a®-3a a-3
Sb-MM:—2™>_ a20,a%3 a% -5 ...str.22/6.4-c)
a(a+5h)

Upravte:

c+d c?+cd

c-d ¢?-d?

sb-MM:S* 9 ¢ 20 c# —d ...sir.22/6.4-b)
C

Upravte:
3a+6b  a+2b
a-b " 2ab-2p?
Sb-MM:6b, a # -b,a# 0,a % -2b ...str.22/6.4-a)
Upravte:
9a® —12ab + 4b?
9a® - 4b?
3= oy a2b
3a+2b

Upravte:
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4b* +12ba + 9a®
4b? -9a?
VH: 2b+3a
2b-3a
9) Upravte:
u? - 4v?
9u? —12uv + 4v?
vH: UtV
3u-2v
10)Upravte:
4v? - 9u?
4v? +12vu +9u?
2v-3u
2v+3u’
11)Upravte:
a®-25 a’+5a
a’-3a a’-9

VH:

Sh-rce:

12)Upravte:
u?+2uv u®-uv

u-v u®-4v?
2

VH:

u-2v’
13)Upravte:
1-x* _
@+x?

VH: X gz 1
1+ X

(a+3)(a-5)
aZ
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,2b# +3a

3u#2v

2v# -3u

,az0,az+t3 az-5

u#Vv,uz2v,uz-2v
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